H AG S® Rope Climb

CC

e
e
—
e

A ° E@Playﬁowerinc Rope Climb Rev:1
HAGS heeibaosmil SW71817 18/1/19 117



1 SW71742 a— 1x L=5934 24.63kg 13 31-02551 6x M6, ¥26x14 mm 0.00kg
2 32-03249 ‘1\ N 2x  500x430x300 mm 0.09kg 14 SW60093 6x M6, J16x8 mm 0.00kg
=
3  SW71475 i 4x 4.12kg 15  43-06413 3x  40x17 mm 0.01kg
4  SW71678 / 2X kg 16 8008330 3x  1S04017-M6x20-8.8 0.0071kg
5 SW71846 H 1x 3.33kg 17  SW69776 6x 0.00kg
6  SW71863 1x 1.19%kg 18 8005537 8x @35x20 mm 0.01kg
7 SW64468 3x 0.72kg 19 8042811 ' 4x  1SO7042-M12-8 0.018kg
‘/
Q) p
8  Sw72900 — 3x 0.18kg 20 8008834 K 10x  @12,5x30x3 mm kg
9 8042809 ' 6x 1SO7042-M8-8 0.007kg 21 8008425 ﬁ 2x  1S04014-M12x130-8.8 0.1317kg
‘/
10  SW72899 3x 0.14kg 22 8008421 & 4x  1SO4014-M12x90-8.8 0.0961kg
11 SW73784 l 5 0.01 23 8008411 2x  1S04017-M12x30-8.8 0.0429g
12 8008341 ﬁ 6x 1SO4017-M8x20-8.8 0.0139%kg 24  SW73086 / 4x  108.5 x 2970 mm Variouskg
» © Playpowerinc Rope Climb Rev:1
HAGS hags@hags.com
www.hags.com SW71817 18/1/19 217



(s20 : S17 S18 S19
25  SW72898 / 2x 3.4kg RN i P ’
& > -
o>
I
26 SW73620 1x 0,41kg -
1 X
A\ \\§ . .
27 8008754 1 DIN986-M10-8 0.001
26 SW69911 3x 0,01kg
27 8008713 2x  RXS B4x9.5 0.005kg
° E@Playﬁowerinc Rope Climb Rev:1
ags ags.com
HAGS roseneo SW71817 18/M/19 3/7

www.hags.com




4,90m

Y

A

A

EN1176
1,80m /_ ________

1,60m
4,70m

© Playpower inc Rope Climb e
18/11119 7

.
HAGS' jzeeeer swrers




2,86m

0.80m

Rev: 1
18/11119 5/7

© Playpower inc Rope Climb

HAGS i SW7isl7



o © Playpowerinc Rope Climb Rev:1
HAGS' =
www.hags.com SW71817 18/1/19 6/7



o © Playpowerinc Rope Climb Rev:1
HAGS' =
www.hags.com SW71817 18/1/19 717



